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Ad=0.01m M=210 kg Am=1g
d (m) 0,3 0,5 0,6 0,7 0,8
Ad /d (%) 3,3 2 1,6 1,4 1,25
1(s) 0,56 0,811 0,912 0,983 1,116
1s) 0,567 0,802 0,921 1,015 1,102
1i(s) 0,558 0,806 0,926 1,021 1,101
£1oy(5) 0,562 0,806 0,92 1,006 1,106
A (s) 0,002 0,005 0,008 0,023 0,01
AL (s) 0,005 0,004 0,001 0,009 0,004
AL (s) 0,004 0 0,006 0,015 0,005
At (s) 0,005 0,005 0,008 0,023 0,01
AL/t (%) 0,89 0,62 0,87 2,286 0,904
Pooy(s) 0,316 0,65 0,846 1,012 1,223
y(m /s?) 1,91 1,54 1,421 1,383 1,308
Aviy (%) 5,08 3,24 3,34 5,972 3,058
Ay (m/s?) 0,097 0,049 0,04 0,08 0,039
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At; = [t; — tmoy| = |255 — 25| = 0.002s
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